
                                                                                                                     
 
 
                                    

 
 
BRIDGE 
PROBLEME N° 5 
 
       A 10 
      A R 7 
      D 6 5 
      9 8 7 6 3 
 
         ██  
 
      R D V 6 4 3 
      D 8 5 
      A 10 
      A D 
 
 Les enchères (N/E-O) :  
 
   S        O        N        E  
         1      Passe 
 2     Passe      2SA     Passe 
 3     Passe     4 (contrôle)  Passe 
 4SA(BW 5 clés) Passe     5  (2 clés)     Passe 
 6   (Fin) 
 
 Ouest entame du 2 de Pique. 
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